

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. GBG 4204S

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
2	REAR SIDE PANEL @\$1241.00	N/S BUCKLED	2,482.00	1,180.00
2	REAR SIDE PANEL (INNER) @\$1165.00	N/S BENT	2,330.00	980.00
2	REAR WHEEL HOUSE PANEL (INNER) @\$879.00	N/S BENT	1,758.00	879.00
2	REAR WHEEL HOUSE PANEL (OUTER) @\$658.00	N/S BENT	1,316.00	658.00
2	REAR SIDE PANEL INNER TRIM @\$234.00	SERVICEABLE	468.00	-
2	REAR SIDE PANEL AIR VENT (OUTER) @\$78.00	N/S DISTORTED	156.00	78.00
2	REAR SIDE PANEL INNER AIR VENT @\$78.00	SERVICEABLE	156.00	-
2	REAR SIDE PANEL SLIDING DOOR RAILING @\$246.00	N/S BUCKLED	492.00	246.00
2	TAIL LAMP @\$268.00	N/S BROKEN / O/S CRACKED	536.00	536.00
2	TAIL LAMP PANEL @\$158.00	N/S BENT	316.00	158.00
2	TAIL LAMP INNER PANEL @\$245.00	N/S BENT	490.00	245.00
1	REAR BUMPER	BENT	578.00	578.00
1	REAR BUMPER TOW HOOK COVER	MISSING	65.00	65.00
2	REAR BUMPER SIDE RETAINER @\$58.00	DISTORTED	116.00	116.00
1	REAR BUMPER SPONGE	NO SUCH PARTS	156.00	-
1	REAR DOOR N/S	BENT	1,689.00	1,491.31
1	REAR DOOR O/S	BENT	1,442.00	1,442.00
1	REAR DOOR OUTER HANDLE N/S	DENTED	225.00	225.00
1	REAR DOOR LOCK CYLINDER N/S	SERVICEABLE	189.00	-
2	REAR DOOR LICENCE PLATE LAMP N/S @\$95.00	N/S CRACKED	190.00	95.00
1	REAR DOOR "ECOJET" EMBLEM	NECESSARY	55.00	55.00
1	REAR DOOR "FIORINO" EMBLEM	NECESSARY	75.00	75.00
1	REAR DOOR "FIAT" LOGO	NECESSARY	103.00	103.00
1	REAR DOOR "PROFESSIONAL" EMBLEM	NECESSARY	65.00	65.00
1	REAR DOOR GLASS N/S	SHATTERED	1,376.00	980.00
1	REAR DOOR GLASS MOULDING N/S	NECESSARY	98.00	98.00
1	REAR DOOR GLASS O/S	SHATTERED	1,145.00	860.00
1	REAR DOOR GLASS MOULDING O/S	NECESSARY	88.00	88.00
1	REAR DOOR N/S INNER LOCK WITH MOTOR	JAMMED	566.00	425.00

Report Ref No. CS/LPC20011005/Ktd3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	REAR DOOR UPPER LOCK @\$196.00	TO REPAIR SEE LABOUR	392.00	-
2	REAR DOOR LOWER LOCK @\$196.00	BENT	392.00	392.00
4	REAR DOOR HINGE @\$170.00	TO REPAIR SEE LABOUR	680.00	-
2	REAR DOOR CHECKER @\$65.00	DISTORTED	130.00	130.00
1	REAR DOOR INNER TRIM N/S	DISTORTED	210.00	210.00
1	REAR DOOR INNER TRIM O/S	DISTORTED	210.00	210.00
1	EXHAUST PIPE	TO REPAIR SEE LABOUR	892.00	-
1	CENTER EXHAUST	TO REPAIR SEE LABOUR	980.00	-
2	CENTER EXHAUST MOUNTING @\$93.00	SERVICEABLE	186.00	-
1	CENTER EXHAUST GASKET	SERVICEABLE	42.00	-
1	REAR END PANEL	BENT	356.00	356.00
1	REAR END PANEL (INNER)	BENT	650.00	650.00
1	REAR END PANEL (EXTEND)	BENT	265.00	265.00
1	REAR FLOOR PANEL	BENT	2,196.00	1,250.00
1	REAR FLOOR CORNER PANEL	BENT	692.00	692.00
1	REAR CHASSIS EXTENSION MEMBER	TO REPAIR SEE LABOUR	1,156.00	-
1	REAR END PANEL TOP GARNISH	BUCKLED / DENTED	178.00	178.00
1	REAR FLOOR PANEL TOP MAT	SERVICEABLE	650.00	-
1	REAR AXLE	BENT	1,890.00	1,600.00
2	REAR SHOCK ABSORBER @\$690.00	N/S BENT	1,380.00	180.00
1	SLIDING DOOR O/S	TO REPAIR SEE LABOUR	756.00	-
1	SLIDING DOOR UPPER ROLLER O/S	SERVICEABLE	113.00	-
1	SLIDING DOOR LOWER ROLLER O/S	SERVICEABLE	145.00	-
1	SLIDING DOOR N/S	TO REPAIR SEE LABOUR	756.00	-
1	SLIDING DOOR UPPER ROLLER N/S	TO REPAIR SEE LABOUR	113.00	-
1	SLIDING DOOR LOWER ROLLER N/S	TO REPAIR SEE LABOUR	145.00	-
1	WING MIRROR ASSY N/S	CRACKED	285.00	285.00

Report Ref No. CS/LPC20011005/Ktd3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	LESS 10% DISCOUNT		-3,456.10	-1,811.93
			31,104.90	16,307.38
	DEAD DOOD WEATHERCTRID @@224.00 (F00/)(CN)	DENITED / CLIT	440.00	224.00
	REAR DOOR WEATHERSTRIP @\$221.00 (50%)(SN) REAR DOOR WEATHERSTRIP CENTER (50%)(SN)	DENTED / CUT	442.00	221.00
1	` '` '	CUT	119.00	59.50
	LESS 10% DISCOUNT		-56.10 504.90	280.50
	SPECIAL NETT ITEMS			
2	REAR WINDSCREEN SEALANT @\$100.00 (SN)	NECESSARY	200.00	80.00
1	TAILGATE "4 PAX" STICKER (SN)	NECESSARY	18.00	12.00
1	TAILGATE "70KM/H" STICKER (SN)	NECESSARY	18.00	12.00
1	REVERSE SENSOR (SN)	TORN	280.00	200.00
1	REAR WHEEL HOUSE PANEL INNER SEALANT (SN)	NECESSARY	200.00	30.00
2	TAILGATE AFTERMARKET EMBLEM @\$80.00 (SN)	NECESSARY	160.00	120.00
1	REAR SIDE PANEL INNER SEALANT (SN)	NECESSARY	200.00	30.00
1	END PANEL SEALANT (SN)	NECESSARY	100.00	30.00
6	END PANEL TOP GARNISH CLIPS @\$5.50 (SN)	NECESSARY	33.00	33.00
10	REAR BUMPER CLIPS @\$5.50 (SN)	NECESSARY	55.00	55.00
1	REAR FLOOR PANEL SEALANT (SN)	NECESSARY	100.00	30.00
1	SUNDRIES (SN)	NOT NECESSARY	50.00	-
			1,414.00	632.00
	<u>LABOUR</u>			
	TO DISMANTLE/RENEW THE ACCIDENT DAMAGED PORTION.TO PANEL BEAT, RESHAPE, STRAIGHTEN, ORIENTATE AND ALIGN REPAIR/REPLACEMENT PARTS.INCLUSIVE OF THE REPAIR OF REAR DOOR UPPER LOCK, REAR DOOR HINGE, EXHAUST PIPE, CENTER EXHAUST, REAR CHASSIS EXTENSION MEMBER, SLIDING DOOR O/S, SLIDING DOOR N/S, SLIDING DOOR UPPER ROLLER N/S AND SLIDING DOOR LOWER ROLLER N/S.		1,600.00	1,500.00
	TO DISCONNECT REAR WIRE HARNESS OF ELECTRICAL COMPONENTS TO FACILITATE REPAIRS,RECONNECT AND CHECK FUNCTIONS INCLUDING TAILLAMP LIGHTINGS.		50.00	20.00

Report Ref No. CS/LPC20011005/Ktd3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

16,000.00

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO REMOVE,REFIT BOTH TAILGATES COMPONENTS TO REPLACE TAILGATE,CHECK AND RE-ADJUST CLOSE GAP,ALIGNMENT AND WATER SEEPAGE.		100.00	100.00
	TO REMOVE AND REFIT,STRAIGHTEN AND READJUST EXHAUST PIPE AND REPLACE EXHAUST SILENCER.		100.00	60.00
	TO REMOVE AND REFIT INTERIOR UPHOLSTERY TO FACILITATE REPAIR WORK.		100.00	100.00
	TO REMOVE AND REFIT REAR WINDSCREEN TO FACILITATE REPAIR WORK.		300.00	120.00
	SUPPLY SPRAY PAINT MATERIAL AND NECESSARY ITEMS TO RESPRAY AFFECTED AREA/PANEL.		1,600.00	1,400.00
	TO RUST PROOF ALL AFFECTED PORTIONS AFTER REPAIR.		100.00	100.00
			3,950.00	3,400.00
	GRAND TOTAL		36,973.80	20,619.88

Report Ref No. CS/LPC20011005/Ktd3n2

RECOMMENDED COST OF LUMP SUM REPAIRS

(TO ITS PRE-ACCIDENT CONDITION)

KONG SENG CHEONG

Licensed Appraiser